
% of time 
appointed

Hours of 
Work/Week

Units TAL 
Provides Total Tuition Charge to Source

School 
Contribution

10 4 * 2,508 2,031 477
15 6 3 3,762 3,047 715
20 8 4 5,016 4,063 953
25 10 5 6,270 5,079 1,191
30 12 6 7,524 6,094 1,430
35 14 7 8,778 7,110 1,668
40 16 * 10,032 8,126 1,906
50 20 8, 9, or 10 12,540 10,157 2,383

TGR 4-20 0-3 3,531 3,531 -

% of time 
appointed

Hours of 
Work/Week

Units TAL 
Provides Total Tuition Charge to Source

School 
Contribution

60 24 * 10,032 8,126 1,906
65 26 7 8,778 7,110 1,668
70 28 6 7,524 6,094 1,430
75 30 5 6,270 5,079 1,191
80 32 4 5,016 4,063 953
85 34 3 3,762 3,047 715
90 36 3 3,762 3,047 715
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Regardless of the % of appointment, when a student has TGR status the assistantship always provides TAL at the 
TGR rate.

* Similar to a 40% Assistantship during the Academic year, a 60% Summer Assistantship will NOT provide the full 
tuition for a student enrolled in 8, 9 or 10 units.

2020-21
RESEARCH ASSISTANT TUITION ALLOWANCE TABLES

Graduate Engineering Tuition Rate Funded by a Medical School PTA
81% charged to source, 19% charged to School

Academic Year and Summer Assistantships Equal to or Less than 50%

* Does not equate to a tuition charge; 40% plus 10% equals a 50% Assistantship and covers the 8,9,10 unit tuition 
rate.

Summer Assistantships Greater than 50%

The maximum Assistantship appointment for Fall, Winter, and Spring Quarters is 50%.  Assistantships greater than 
50% are allowed during Summer Quarter only, up to a maximum Assistantship of 90%.

Eligibility for Assistantships during Summer Quarter is no different than for other quarters, except that the 
enrollment requirement (minimum of 8 units enrollment) becomes 1 unit in the Summer Quarter.

Tuition Allowance for Assistantships greater than 50% and up to 90% will decrease proportionately as the 
Assistantship increases. 

 Wherever possible, Summer Assistantships of over 50% should be established as a single Assistantship, rather 
than a combination of smaller Assistantships so the TAL is calculated correctly.


